



Quote

Quote # 342014-0001

	Methodics-da	Qty	Price/ea*	Total
Item# 1	Lopoco LP-4255-2H VM Server	1	\$2,032.00	\$2,032.00
	8 Logical Core, 2.5 GHz 3.7 GHz turbo 1U Rackmount cabinet 2 Hot swap disk bays 2 Gigabit LAN ports 1 IPMI+KVM LAN port 32 GB ECC DDR3 memory			
	512GB Class [†] SATA3 SSD	2	\$399.00	\$798.00
	1TB Class [†] SATA3 SSD	2	\$651.00	\$1,302.00
	Tax	8.75%	\$247.63	
	Shipping			
	Additional 2 year limited warranty (not incl.)		\$280.00	\$280.00
	Total		\$3,357.63	
	Total (1TB SSD option)		\$3,905.73	
2	Lopoco LP-4255-6H VM Server	1	\$2,262.00	\$2,262.00
	8 Logical Core, 2.5 GHz 3.7 GHz turbo 1U Rackmount cabinet 6 Hot swap disk bays 2 Gigabit LAN ports 1 IPMI+KVM LAN port 32 GB ECC DDR3 memory			
	512GB Class SATA3 SSD	2	\$399.00	\$798.00
	1TB Class SATA3 SSD	2	\$651.00	\$1,302.00
	Tax	8.75%	\$267.75	
	Shipping			
	Additional 2 year limited warranty (not incl.)		\$280.00	\$280.00
	Total		\$3,607.75	
	Total (1TB SSD option)		\$4,155.85	



3	Lopoco LP-6240-6H VM Server	1	\$3,578.00	\$3,578.00
	12 Logical Core, 2.4 GHz 2.8 GHz turbo 10 Rackmount cabinet 6 Hot swap disk bays 2 Gigabit LAN ports			
	1 IPMI+KVM LAN port 64 GB ECC DDR3 memory			
	512GB Class SATA3 SSD	2	\$399.00	\$798.00
	1TB Class SATA3 SSD	2	\$651.00	\$1,302.00
	Tax	8.75%	\$382.90	
	Shipping			
	Additional 2 year limited warranty (not incl.)		\$280.00	\$280.00
	Total		\$5,038.90	
	Total (1TB SSD option)		\$5,587.00	

*Included in price:

1 Year limited hardware warranty

Software installation (cost of software may be extra)

[†]SSD capacity sizes vary slightly from model to model and actual capacity may be slightly less